——
N = 0] &F AF S & AN A
20168 &= 20 A LB H AXxAH
B AxH
HEM: AXxH FOUHHAMHA 5 235
Sol: AES FUMEBX EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AxAH 628,468 620,715 7,753
AXH FOHPAHA = 25 216,299 209,459 6,840
AEH FOIMEXJ 216,299 209,459 6,840
AZXH FOERHHH 103,720 103,720 0
201 2Et2Hy| 1,000 1,000 0
03 Al HH| 1,000 1,000 0
OAx™H SEONIIEH MdA
1,000,000 x 14! 1,000
301 et A= 102,720 102,720 0
0B SHE -0 -EHEESEMN= 101,720 101,720 0
O0l&% 200,000 x29021 x12& 69,600
O0HEANH=Z 200,000 2901 %23 11,600
OO0l &3 o &AM 4G 20,000 & 2901 x23| x 12& 13,920
Ot &= 50,000& x132¢! 6,600
09 SHAIAHI B A2 1,000 1,000 0
Oy & siAb & A AHIEH
1,000,000 = 14! 1,000
AZXZH ARSI 22 26,809 26,809 0
201 Bt 26,809 26,809 0
02 E2=2=2%H| 26,809 26,809 0
OZ2Z222 ¢ HMA 12,809,000 « 1Al 12,809
O 2| 10,000,000 » 1Al 10,000
OAAEZHI KXY 4,000,000 =14l 4,000
AZxH HAX S 84,270 77,430 6,840
201 LBt 29,570 25,370 4,200
01 AP 22| H| 15,170 15,170 0
Ogbt4=24| 13,170,000& » 1Al 13,170
osds4 2,000,000 =14l 2,000
02 2=2=24%H| 14,400 10,200 4,200
oEa 6,000,000 1Al 6,000
OXEFER A 22l 4,200,000 *2CH 8,400
202 o4 | 50,400 50,400 0
01 2Ll 50,400 50,400 0
OJlegsa 2ol
20,000 x15Q1x14 x12& 50,400
405 XHA&HF S HI 4,300 1,660 2,640
01 XAt 2 FF S| 4,300 1,660 2,640
O3l oal Xt 100,000 344 3,400
OPC(2LIH) 300, 000& =304 900




2AH AxH
M AZXH FOUMFPAH A S5 25
S AZH FOUMER (&9 &)
= = SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AZH AZBRAXL 1,500 1,500 0
201 LBt 1,500 1,500 0
02 B22ZH] 1,500 1,500 0
OZ2Y AZ22I SXE S|
1,500,0002 * 14l 1,500
AZH AL ZH 341,210 339,548 1,662
AZH ARD Z0=QAY 341,210 339,548 1,662
AZTH FOSAAY 301,000 300,000 1,000
401 Al HI 2L 2 0HY 301,000 300,000 1,000
01 A& H| 300,000 300,000 0
O=xgel £2 DarsE 22 AHL=30m, B=6m)
30,000,000 14l 30,000
O] HE S2EF L Hi2 EXSAHL=
100m, B=3m, D500) 30,000,000 14l 30,000
OFS? S2 XA 2 gi42 & X2 AHL=80m,
B=3m, D700) ao,ooo,ooo%*w 30,000
OmAe =2l 2 3MA =2 ZEZAHL=250m
. B=3m) 30,000,000 14l 30,000
Ost=2| =2 E &2 AHL=250m, B=3m)
30,000,000 14l 30,000
OXYe S22 =2 I E 2 AH(L=250m, B=3m)
30,000,000 14l 30,000
Onstel S22 A L Hi42 & X2 AHL=100m,
B=3m, 60%600) 30,000,000 14l 30,000
OBXZ 22 ot 222 AH(L=100m, H=
2.5m) 30,000,000 14l 30,000
Oz MUY =2 T X2 AHL=250m, B=3m)
30,000,000 14l 30,000
Ongel S8 0f=20h2 A 2 AHL=250m, B=
3m) 30,000,000 14l 30,000
03 A& 2 H 1,000 0 1,000
OAl & 2HHI 1,000, 0008 x4l 1,000
AZH FOSHEGAY SHAFY 40,210 39,548 662
101 @124l 35,210 34,548 662
04 JI2H2R2IAEEL 35,210 34,548 662
OsZ A 27,026
>o=E3 49,6002 10! %249 12,351
> Ao 2 12,350,4002 /128 %43 4,117
DEELY 49,6002 *101 %523 2,580
DRt 49,6002 x1Q1 %152 744
D> & MZAY| 30,0002 x 101« 12& 1,560
DRNEEEH| 120,000 * 101 x 128 1,440
> El=Z 22,790,4002 /12¢ 1,900




B AXxH
B A0 AYAY
CHel AEY APRD FOUSAAY CER-ED
DA HB B (EH) - MBAY - BAS o A o SSa H RS2
DAABES 22,790,400 *3.035/100 692
DEIINRASLEH 691,700 *6.55/100 46
>=01d32 22,790,400 *4.5/100 1,026
PNEa8gEs 22,790,400& *1.5/100 342
DAMEE S 22,790,400& *1/100 228
O&=HMA 49,600& *1021 x 12 5,952
OM&E®Y 49,600& *301x15L 2,232
206 M =8l 5,000 5,000 0
01 &2 bl 5,000 5,000 0
OHEZATH 500&*10,000= 5,000
AXxH HY2HFY| 70,959 71,708 NT49
AEEH oHFHSAY| 44,794 45,543 NT49
AxO ol 2HY| 44,794 45,543 ANT49
101 @121l 44,794 45,543 ANT49
01 2 44,794 45,543 NT49
OANZ2A2RSE 9,332& x1621 *300A| 2+ 44,794
AZXH J2HY| 26,165 26,165 0
AZXH JI2HH| 26,165 26,165 0
201 et A | 9,325 9,325 0
01 AFR2t2ldl 9,325 9,325 0
ONM2g+2H| 6,350,000 * 14 6,350
O3l 7,000& x1721 x5 2,975
202 04t 5,360 5,360 0
01 2LHOHI 5,360 5,360 0
O22 0yl 2,000,000& * 14 2,000
OJI=2gd2=3 20 Y
20,000& *121x14 «12& 3,360
203 € R =&Y| 11,480 11,480 0
01 J|22I PR =&Y 6,600 6,600 0
OAxxHE 6,600,000& x1Q! 6,600
02 RN R =AY 680 680 0
OB HREAY| 40,0008 x17¢9! 680
04 ENSIHRF=EY| 4,200 4,200 0
ORNM2gIdRF&Y| 350,000& x12& 4,200




